W R Yotteu bty @ Loy

"/'/ —auwdld by for o afe/»///&w? o
Ul Gt Ty W bealfe  Jmags

/tmoé W _lfé ¢ Ty tarter
e 7] 1 4le Gis ey foor

B 44% . {' & ,,,_4.!{!5, N _‘
///' J% %Zj Yo

__ A% A // 0—//(/41/@_? M/UC/LWL,{
. zw @774 pdooni]

/ /-//; _

e,

,'4

,4/2144/__ g

' o el
~ “é%‘;’;y %




Wnbad  oldoth ap

/] AW}J ///{ //(J/(/b_ Ml

Ut on W famedd of dest

f mﬂ(// J //y (! /W/(/t' // ol Wenlit s
fads. /m m il dpre

Qo/ﬂ éma’uz/w/ W /Nt/d f’/ Aol

Q/?ﬂ 2 (ONCUY ik gr Lkl esenplion of

W ol G /%(/W/&//

?ﬂﬂm vaws  adad el 19 dal
pbertt (L8 vl dwd e ,;“m"f ' Lunfl;
bl e camilones, s by add W

g%?ﬂ_.” é£ . 2 eip. 7N . 2 ﬂl(:ﬂ??k
ARy, W ﬂe}woz/y U 17 enn
i

W oo e

-~ Jtrted” o MM#—;%Z? . szm%ﬂ”}f//
G Ozlﬂdﬁ Lorhl Ul
b M crsommntf A e




4 e i A i PR ——
— e —————————

U sl wd %ﬁfﬂ%/m
i vory W R
%ﬁ yra MZ 4l ol W%éﬁ

MY 4_%!% gl = opade -‘A/Z s 2. . ﬁ

S S— . —— —

answers are satisfactory
some are too long | BECMC 3
try to-conclude the ans on 6th 7th line S 33 : |
over all satisfactory 9/20



answers are satisfactory 
some are too long 
try to conclude the ans on 6th 7th line
over all satisfactory 9/20






